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І варіант
1. arccos1=
1. arcsin =
1. arctg0=
1. arcctg=
1. arcsin=
1. arcctg )= 
1. arccos
1. arcsin(-1)=
1. arcsin=
1. arctg(-1)=
      11.arccos=


ІІ варіант
1. arcsin=
1. arctg=
1. arccos=
1. arcsin0=
1. arcctg=
1. arcsin=
1. arcсos(-1)=
1. arctg1=
1. arcсos(-=
1. arcsin1=
       11.arcсos(-1)=

ІІІ варіант
1. arcctg=
1. arccos1=
1. arctg0=
1. arcsin)
1. arccos
1. arcctg=
1. arcсos(-1)=
1. arcsin0=
1. arcsin=
10. arctg(-1)=
  11.arccos=

І Vваріант
1. arctg=
1. arcsin(-1)=
1. arccos=
1. arcsin =
1. arcct )= 
1. arcsin=
1. arcсos(-1)=
1. arctg1=
1. arcсos(-=
1. arcsin1=
1. arcsin=




